e

i S o 7 5%

MPEDHAFIZHONT

1 A NP R R QR R
2 W "

(D) #ZEiHARE (Ars) 2, 6 4 0fft

.20.

i HooR # B
1 4[5 FE PR ER A S 5 6 fit
2 - [E 5k JER X H R A= 5 3 fit
3 4R [EFE TR E A A 5 0 fiit
4 (5 FE JER X H R A= 5 3 fit
5 4 [H 7k PR ER A S 5 2 fit
6 4= [E 35 oA B R s A 5 4 it
1 FEFE JEAT B ROk AU £ 5 6 fit
2 FEEG YRS B R s A 5 3 it
3EEE AT B R S 2 A 5 0 ffit
4EET YRS B R R s A 5 3 it
5FEEE YRS B R R s A 5 2 it
6 FEG AT B AR U 2 A 5 4 it
3L YRS B R R s A 50 fit
4 ks YRS B R R s A 5 3t
5t AT B AR S 2 A 5 2 it
6 4tk YA B R s A 5 4 it
4 FHX MRk [ FH 5 3 it
5 HI R A E BT 5 2 fit
6 A Hi1 [ MRk = FHe 5 4 ffit
1R Tk A A8 B P AR R AR 5 6 fiit
2 FERHK AR 8 B L e T AR 5 3 it
3R Tk A A8 B P AR R R 5 0 fiit




4R PR A8 B L R T AR 5 31t
5 EFE Ik A8 B P AR R AR 5 2 fit
6 A Ik A A8 B P AR R AR 5 4 fit
1 AR AL E R A AL 5 6 ffit
2 AT TR E AL 5 3 it
3 A HLA Ik A8 B P AR R AR 50 fiit
SEFFEL (MiBhZEHS) | BRI B A AR 50 fi
4 FEFRRL Ik A A8 B P R T AR 5 3 it
AMETRRL (RHBhZH) | BRSE b 7 B R 7E bR B 5 3 it
5 4= LA PR A8 B L R T AR 5 2 it
5AFRL (HiBhZEA) | B A B H AL AR A 5 2 ffit
6 fEHLA} Ik A A8 B P R R AR 5 4 it
6 FEARL (HBVBRS) | BRAS AT B A AR 5 4 i
145 256 MRt 2F H it 5 6 fiit
2 4 B A H R At 5 3 it
3R RS ECE E i 5 0 fit
ARG A H R At 5 3 it
5 AL MRt EF E it 5 2 fiit
6 fF 5 % A R A &AL 5 4 it
1R T H AR SCE U IR U+ 5 6 it
34X T H AR SC U IR s 5 0 ffit
54X T H A SCH AR A= AL 52 fit
5 FERKE FOREFER A 5 2 it
6 FFKHE FOREFER A 5 4 i
3 LR fE BRAS A AEE 7 5 0 5 0 fit
4 LR AL EE S 50 5 31
5 Pk fa AL EE S 50 5 21
6 4 {R filt BRASHAEE 7 5 0 5 4 it
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(2) ZEMMERE (B2 7921
it % HoR # &
1 [E 75 AL E R A AL 5 6 fiit
2 4R [EFE JEAT B H R s A 5 3 it
3 4 [H 3 AL E R A AL 5 0 ffit
4 HE [EGE AT B R S A 5 31t
5 4 [E7E R F R A AL 5 2 fiit
3L JeAS B H R R s A 5 0 fit
4 it JEAT R AR U A 5 3 it
2 ERH R 1T B L R R AR A 5 3 it
3R PR A8 B L R T AR 5 0 fit
4 EERH PR A8 B R T AR 5 31
1 EATE FR ] E R A=A 5 6 fit
2 AR AL E R A AL 5 3 it
2 X T H A ST iR U 5 3 it
44K T H AR SCH U IR U+ 5 3 it
6 4F X T. H A ST iR U 5 4 it
(3) #ZEMFEEE (ArHsy) 1, 06 9fft
i % HooR f # B
1 4R [ERE PR ER A4 3 9 it
2 4 [ 3 JEART B HH IR S+ 3 6 it
3 4R [ERE TR E A 3 3 fit
4 4R [EGE JEAT B HH IR+ 3 6 it
5 4 [E 3 TR ER A A 3 5t
6 4 [ 35 JEAT X H R s A 3 7 fit
1HEE JEAT B HH IR+ 171
2HEEE JEAT B HH IR+ 171
3FEHETG JEAT X H R s At 171
4EET JEART B HH IR S 2+ 17 i




5EE SRS E H R A= 1 17
6 F£EHE JEAS X H R AU AL 17t
3 FAER JEARS X H ok A 3 3 fiit
5= SRS B E H R A= 1 3 5 fit
6 e JEARS X H ok A 3 7 fiit
4 4 i1 [X] Ak = FE 17 i
1R IR A A8 L ) A T PR 39 fit
2 R Ik A A8 B P R T AR 3 6 it
3R Ik A A8 B P AR R AR 3 31
4 FHEH IR A A8 L ) Rl AL T PR 3 6 fit
5 R Ik A A8 B P AR T AR 3 5 it
6 R4 Ik A A8 B P R R AR 3 71
1 4ETE PR ER A S 1 7
3 AE LR IR S A B A T AR 3 31t
4 R IR A A8 B R R AR A 3 6 fiit
5 FEF IR A A8 L Rl AL T PR 35 fit
6 FEHLR IR A A8 B R R AR A 3 7 fiit
145 36 MRt EF E it 17 i
2 A4 A U U At 171
3 A A S HEHH i 1 7 fit
4 3 A Mk 1t 17 i
5 A 3 A E =4 1711
6 5 % HE ka1t 1 7 fit
14T H A SRR A AL 17 fit
3K T H A R A AL 17
54X T H A SRR A= AL 17 fit
5 5 iE RO EREAR A 1 7 fit
6 FE R RE HOXFERER NS AL 17 it
3 A PR it AL EE A 50 17 i
4 LR AL BE A 50 17 fit
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5 R fE RS EIEE 2 5 0 17 it
6 LR LR AE AR EEF 50 171
(4) ZEMAFREE (&H45) 31 61H#
i % HooR # B
1 [E 75 AL E R A AL 3 9 ft
3 4 [H 3 AL E R A AL 3 31t
5 4R [E7E R F R A AL 3 5 it
4 s JEAT R AR U A 3 6 it
2 FH PR A8 B L e AR 3 6 it
3R Ik A A8 B P AR T AR 3 3t
4R PR A8 B L R T AR 3 6 it
2 TS PR ER A S 1 7t
2 4R T H A SCEH ok A+ 1 7 fiit
41T H A ST iR U A 17 fi#
6 4 T H AR SCH R U 1 171
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